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QUESTION 1
A public cloud provider is looking for a method of delivering services through a user interface that:
Is specific to the user who logs in

Delivers services that adhere to the specific service level Agreement of each customer Which cloud product would best
enable the provider to meet these requirement?

A

vRealize Automation Self Service Catalog

B.

vRealize Orchestrator

C.

vSphere Web Client

D.

vRealize Automation Advanced Service Designer

Correct Answer: D

QUESTION 2

Which vRealize Automation feature provides companies a lot of flexibility in using their own customized service politics
and business logic?

A. Accelerated application deployment
B. Intelligent Resource Governor

C. VMware vRealize Orchestrator plug-in
D. Self-service end user portal

Correct Answer: B

QUESTION 3

A manager wants to know why traditional usage metering tools are less effective in a private cloud environment
thanthey are in physical environments.What statement provides the best response?

A. Traditional monitoring tools won\\'t work in a cloud environment.

B. Traditional metering tools require agents to be installed, which don\\'t work in virtual machines.
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C. Resource usage is based on the overall demand of all virtual machines instead of per server.
D. This is not true, traditional usage metering tools are still the best choice.

Correct Answer: B

QUESTION 4

A company has decided to move to a hybrid cloud environment.They are concerned that this may increase
management complexity by requiring multiple interfaces.Which product provides a single interface for all virtual
machines within a hybrid cloud environment?

A. vCenter Server

B. vFabric Suite

C. vCloud Connector

D. VMware NSX

Correct Answer: C

QUESTION 5

An administrator is examining a data center to validate that it is operating as efficiently as possible.Which option
represents an Efficiency challenge the administrator might face?

A. Needing to easily roll back changes to workloads during testing and development.

B. Wanting to provide multi-tenant access to cloud resources without compromising security.

C. Needing semi-isolated and autonomous environments for the application development teams.
D. Wanting to align IT costs with corporate models by classifying IT as an operating expense.

Correct Answer: C
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